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7] 6065[=F E&HQ) LR 17.87 (=1.5) 3 2
7] 7098[lLUA FREF (2) [N 17.87 (=2.3) 4 6
9] 4086[/h#k £57 (2) R 17.99 (-1.5) 3 3
10[ 6061/ #k #0F (3) LR 18.16 (-1.5) 3 4
11 7094|9EH Y Z (3) [N 18.44 (-1.5) 3 5
12| 7235|& 8 BE (3) =% 18.49 (-1.5) 3] 6
13[ 6870|/hNEH R E(3) RHT 18.57 (-1.5) 3 7
14 5310| E# —F (2) BR LR 18.60 (-1.5) 2 1
15] 7008|#E A Q) (& 19.21 (-1.5) 2 2
16| 5309|ARH Fix(2) BR LR 19.31 (-1.5) 2 3
17| 5846 EP*T *,7'5(3) B/ HA 19.33 (-1.5) 2 4
18] 6260|BA8 &% (2) A 19.80 (-1.5) 1 1
19| 5976 #’A% %*(3) NEE] 20.19 (-1.5) 1 2
20 6008[/h#k RZE (3) B[4 20.24 (-1.5) 1 3
21 8105|741 fmhvE (1) EEIES 20.49 (-1.5) 2 5
22| 5930|ZEmE 122K (2) NEE] 20.58 (-1.5) 1 4
23| 4281[EFEH LEQ) INER 20.65 (-1.5) 1 5
24 5965 AT Ek (2) NEE] 20.95 (-1.5) 1 6
25| 5809[=;m &4 (2) ElE 21.07 (-1.5) 2 6
26 5002|#E EEF Q) /A 21.26 (-1.5) 1 7
27[ 5861|mIL {REE (2) B/ HA 23.33 (-1.5) 1 8
6902|548 B4 (2) AHT (=2. 3)|DNF 4
5451[8HR VFEYR) 4 [ (-1.5)|DNS i
7003 [ Il 3EEE (3) (& (=1.5)|DNS 2
8243 |1FiE FIF (2) g (1. 5)[DNS 2
812K EQ) L& (-1.5)|DNS 2
59465 S4E (3) NEE] (=1.5)|DNS 3
5128[FEE £ (3) PEE (=2.3)|DNS 4




TFHE

FE R Bk

[6H15H

[9:30]

REEFRHEEEHE (R) 5.74 &KX HME 'R 2014/08/31
IBGL B Fon - K 4 g4 -1- | -2- | -3 8% e
1| 68| 7770 i@&R Fm:(3) 5.20 4.93 515 5.20
IE NG 7% ChinoAs +2.5 +1.3 +2.0 +2.5
2 63 8420 %k AN A (3) X 4.95 4.1 4. 95
Ny hby tREEE +1.4 -1.2 +1.4
3 67 7194 FE FE®Q) 4.55 4.90 x 4.90
TIV KB +1.0 +2.0 +2.0
4] 57 4731 dt/R EP. () 4.76 4.86 x 4. 86
407 abn i3 +1.7 +1.2 +1.2
5/ 70 7006 #xA& EEQ) 4.83 4.58 4.79 4.83
WEF 73 E8 +0.1 -1.9 +1.3 +0.1
6/ 65 9542 =TF Z=#(2) 4.83 4.51 4.64 4.83
Rz BEHY57 +2.4 +0.1 +0.1 +2.4
7 64 78407 HETHE(2) 4.80 4.70 4.52 4.80
Thng 1/n Flg +1.7 +1.7 +1.6 +1.17
8 61 6744%:8 #HE Q) 4.58 4.33 4.79 4.79
9EAT 435 =i +0.6) +1.1 +0.5 +0.5
9 59 5382 #H EE () 4.75 4.41 4.57 475
L34 y1)) HET +1.7 +1.4 +0.6 +1.7
100 66 4729 8T #EA () 4.64 4.55 x 4. 64
Rz SRk +1.0 +0.1 +1.0
11 58 6266 HK #I:i(3) 4.35 4.62 x 4.62
IS A +0.3 +2.2 +2.2
12/ 44 7870 58 A Q) 4.53  x X 4.53
iV FEEE +0. 5 +0.5
13 60| 4691 E& &5 (3) 4.49 x 4.30 4.49
ROWNL Y LTHAFER +0.9 +1.9 +0.9
14) 42| 8863 XM ##& (3) 4.49 x 4.09 4.49
Ty yhy IREh A MR +0.2 0.1 +0.2
15| 56 6286 =& % (3) 4.42 3.90 4.12 4.42
Mah 714 AEHE +1.2 +0.5 +1.4 +1.2
16/ 62 5502 ki KA (3) 4.34 4.39 4.31 4.39
IRV 1 EHHEE -0.8 +1.9 -1.8 +1.9
17 35| 5319 B EFE (2) X 4.38 4.15 4.38
45v3 nt BRI R +1.9 +0.8 +1.9
18] 48| 5142 £&F# #I¥E (2) 4.31 X 4.29 431
4 1Y =4t +1.0 +2.4 +1.0
19 52| 6285 A EFHI(3) 4.30 x 4.05 4.30
A 141 AEHT +1.8 -0.2 +1.8
20/ 53 4679 F®E FDE(2) X X 4.29 4.29
by &4 LTHRER +2.2  +2.2
21| 55 8604|712 &# Q) X 4.25 4.12 4.25
YIY b 3 By R +1.7 -0.9 +1.7
220 38 7432 FiElR RM(2) 4.24 4.01 4.07 4.24
IR NG 47 % f2.323 +2.2 +0.9 +1.9 +2.2
23] 14 4730 IEEFFA =TE(1) 4.03 4.24 4.02 4.24
v1/4Y Ith R +1.3 +0.8 -1.2 +0.8
24| 69 8610 &k Z(2) X X 4.23 4.23
IRV, By R +1.3  +1.3
25 47 5624 %8 BEXK(2) 4.21 4.07 3.99 4. 21
79A" Y it +1.6 +2.1 +1.0 +1.6
26/ 49 5081/#?7?7 TEQ) X 3.92 4.21 4. 21
WY N HE +1.7 +1.2  +1.2
27\ 36 7077 BFE #MZE(2) 3.92 4.10 4.18 4.18
41hE7 U HEHET +0.4 +1.3 +2.9 +2.9
28/ 46 6896 FZ)II =R (1) 4.18 4.03 4.04 4.18
47 39 KHET +1.2 +3.5 0.7 +1.2
29| 33 BMIEBEEH -F=@0) X 4.17 4.16 4.1]7
494 434 BRILk AL +1.9 -1.5 +1.9
30| 37| 8696 i E T (3) X 3.93 4.1 4. 11
WY E /) R +0.5 +2.0 +2.0
31 50 6063/EA &=& (3) X 4.10 r 4.10
w97 194 L& +0.4 +0. 4
32 41 6261 jniE =& (2) 4.09 3.87 4.07 4.09
VI A +1.1 +0.5 +1.2 +1.1
33| 54 7902|KF9 %1% (2) X X 4.09 4.09
44T Fh ETR +0.1 +0. 1
34| 25 8794 AR % (2) X 4.06 x 4. 06
YAth 744 MRS +1.1 +1.1
35| 45 5787|7%H BHE®Q) 4.02 3.92 3.80 4.02
734 Y% E % +0.1] +1.1 +0.8 +0.1
36/ 34 8081 K& #4 Q) 3.99 3.98 4.01 4.01
W E T FA +1.2 +1.4 -0.2 -0.2




TFHE

FE R Bk

IBGL B Fon - K 4 g4 -1- | -2-  -3- e e
37| 32 8204 dtl®m T4ZE (2) 3.75 3.99 3.73 3.99
¥n3/7 =H -1.6 +2.9 +1.3 +2.9
38 31 5968|FLH BHik(2) 3.95 3.86 3.83 3.95
s E3Y N s +1.0 +0.4 +1.9 +1.0
39| 40 4310/ KA&R BHE() X X 3.93 3.93
o8 7hY EAN )-4 -2.2 -2.2
40/ 28| 5833 /L WA (3) X 3.92 3.73 3.92
WY 2% E/HE +1.8 +1.4 +1.8
A1) 22| 7904 R ZEZE(D) 3.85 3.85 3.61 3.85
¥y Ak =tR +1.3 +1.5 +0.1 +1.3
42 24| 8686 flF ZEE (1) X 3.61 3.82 3.82
WY % 53 5 +1.0 +0.8 +0.8
43 17) 5132/ A &EZ= Q) 3.74 3.78 3.71 3.78
45 Y5 hEF +2.5 0.4 +2.1 -0.4
44/ 19 8161 gRE #5EPFL(3) X 3.72 3.12 3.72
11¥°3 19Y ¥ +2.2 +1.5  +2.2
45| 16| 7841 {RE ZEEE(2) X 3.71 3.62 3.7
1 V% Fl& 2.1 +2.4  +2.1
46] 21 6218 /h#k &4 (2) 3.57 3.67 3.58 3.67
¥y Ftn EHBAX +2.1 +3.4 -0.9 +3.4
47 23| 9352 K[ #ER(1) 3.64 3.18 3.48 3.64
hh B FHIRASAC +1.2 +2.1 +1.1 +1.2
48| 20| 5264 =& wFfE (1) 3.52 3.44 3.63 3.63
9334 a/h X +3.3 +1.8 -1.5 -1.5
49 27 5862/t /HFF() 3.62  x 3.58 3.62
$55°7 $3 B/ HA +0.9 +0.1 +0.9
50/ 18 5071|#?? TE() 3.07 3.51 3.58 3.58
Wy a/n e +2.5 +1.7 +0.7 +0.7
51 3| 5820 (Ll HTH#E (1) 3.57 3.50 3.33 3.57
v IER ! BIHER +1.6 +2.3 +1.4 +1.6
52 8 5983 &k #iE(2) X 3.23 3.57 3.5]7
MhT 743 B +1.1 +3.3 +3.3
53 6 6737 mhiIE EEH(2) 3.52 3.40 3.30 3.52
Thy' v 7Yt =8 +2.8 +1.5 +1.7 +2.8
54| 15 6296 &FR #H# (1) X 3.47 3.51 3.51
VIV TRH AEHE +3.2 +2.7 +2.1
55 4 5372 g 1E(2) 3.50 3.49 3.41 3.50
Thy 39 13t HNET +3.2 +3.4 +2.2 +3.2
56/ 11 5075 #?? ZzfE(1) 3.48 3.34 3.48 3.48
Ny HE -0.1 +0.4 +1.5 -0.1
57 1] 4284 &1L #5i0 (1) 3.46 3.30 3.35 3.46
Yy 1t INEER +0.9 +2.5 +2.8 +0.9
58 121 6634|F¥F ZI(2) 3.26 3.23 3.45 3.45
Thng 3+ 257t +1.3 +0.5 +1.5 +1.5
59| 26 4282|3km F&(1) 3.34  «x 3.38 3.38
a3 Ftn INGEER +0.4 +1.3 +1.3
60 7/ 4695 B BE (1) 3.160 3.11 3.09 3.16
th b rtHER +1.2 +2.3 +1.8 +1.2
61 10 7027|#2lL =& (1) 2.26 3.07 3.08 3.08
7947 3kn /A +0.2 +2.2 +2.5 +2.5
62 9| 4906 /AR FEMBA (1) X X 2.97  2.97
Ay bk tHFE +1.2  +1.2
63 2 6294 @O =&F) 2.96 2.92 2.95 296
49 F 8y AEHE +1.5 +2.8 +1.3 +1.5
64 39 547585k FnZ=(2) X X 2.89 2.89
AR ¥ 7ht EEBHERE -2.3 -2.3
30 5133 A VLY Q) X X X NM
Ny £3Y FET
431 9701 £ B&¥F1(1) X X X NM
N EvY =MEkEEH77
5 4919 fulh O H®D Q) DNS
YT tF/ tHFE
130 5376 & F&O3) DNS
IYEh FTH HNET
29| 5347 kB ZE(2) DNS
Ry Y BRIl AL
51 6669 BARE &% (1) DNS
Y43 ThY 2%




TFHE

[6HT5H [ 9:40]
M #24% (1. 000kg)
REEFRHEEEHE (R) 32.15 £ F& =R 2012/09/01
JBGz B3 o - K 4 g4 -1- | -2- | -3- &8 e
T 400 1T ) - 20 05 20.85 3317 3317 RPEH
2| 1] 6646 fﬂfiﬁiﬁ ©® P 23.73 22.23 19.50 23.73
3| 12] 1342 ;’ﬁftﬁﬁ@ . 2213 21.09 x  22.13
4 13) 9383 ﬂf i:{fi@) T 18.68 19.78 20.58 20.58
5 10 7427 ﬂﬁi ﬁqm) - x | 18.12 20.22 20.22
6 9 408 F;k %’3(2) BR x | 17.08 18.15 18.15
7|7 8193 ﬁfﬁ/ﬁf@) s 15.23 14.33 x  15.23
8 2 6269 73»3#]75]7:;&(3) - x | 13.80 13.31 13.80
9 8 42 ﬁf}%ﬁ%@) i x | 12.91 13.28 13.28
10 6] 7097 ;';19; ’3'3:‘?(2) W 13.00 11.98 12.77 13.09
e ﬁilﬁi‘%(” o 8.72 10.49 12.42 12.42
12 5 8224 ﬁ?s%i(b - 11.16 1199  x  11.99
13 1) 5263 mlvl ~>Lx“§;<(2) " 9.92 10.31 11.58 11.58
14 4] 6056 ﬁ;‘iﬁﬁg@ - 9.13 10.28 9.11 10.28
TFHE [(ET5E 1215 ]
Y 4N Yyhan-
REEFRHEEEHE (R) 58.63 =H #Em FER 2019/10/11
JBGz B3 o - K 4 g4 -1- | -2- | -3- &8 e
1] 15 8138 f}]ﬁq*gfﬁ@ P 41.63 40.61 41.71 41.71
2| 13 813 f%':; 'ﬁ’?@) P 34.69 35.05 35.80 35.80
3| 9| 8388 E;:'Z ’5'\7‘\1‘5(3) - 29.59 33.22 33.94 33.94
4 14 5452 ﬁ?f‘fﬁg’“"m o 31.23 31.30 33.82 33.82
5 12| 8054 g‘i;‘gf(” S 30.38 32.54 29.39 32.54
o 8 ﬁ?%mﬁ@) T 21.50 25.08 24.78 25.08
784 ;J'U'?ﬁﬁﬁ ©® i x| 22.26 19.72 22.26
e i =5 22.05 20.92 18.78 22.05
9 1) 82 ﬁﬁ%ﬁf(” = 20.54 16.31 20.36 20.54
10 6] 8940 gffﬂgﬁ@) —_— 17.51 19.99 19.94 19.99
1] 5 8092 ;ﬁ?ﬁ*ﬁ(m - 15.96 16.51 18.40 18.40
121 1] 8792 ﬁf”{,f’*’@) e 15.81 15.87 17.10 17.10
13 2] &n E% 570 - 14.29 1416 x  14.29
10 5758 %8 =M (3) DS
¥ AR R
118083 # %52 (3) DS
Yy iy LEiE




